
6/22 

 
These instructions and the images herein are proprietary. Any unauthorized reproduction is prohibited. 

 

PACIFICA STOW & GO SEAT BRACKET INSTALLATION 

Small Car Performance  •  1403 34th Ave. E, Fife, WA 98424  •  253-473-2474  •  www.smallcar.com 

Immediately upon delivery, open all packages and check the contents of the shipment. Report any issues 
directly to SCP within 15 days. After 15 days, SCP will not be responsible for missing or damaged items. 

 

HARDWARE 
• (2) ½ X 11/16” X 1/4" SPACER 
• (4) M10 X 30 WASHER 
• (2) M10 NYLOCK NUT 
• (2) M10 X 20 BOLT 
• (2) M10 X 45 BOLT 

• (2) M10 WAVY WASHER 
• (8) M8 NYLOCK NUT 
• (8) SOCKET BOLTS 

TOOLS REQUIRED 
• 13 MM SOCKET 
• 13 MM WRENCH 

• 17 MM SOCKET 
• 17 MM WRENCH 

INSTALLATION INSTRUCTIONS 
WARNING: SEAT IS SPRING LOADED. BE CAREFUL WHEN PULLING THE LEVER 

IF NOT ACTUALLY SITTING IN THE SEAT. 
1. If you’ve purchased the seats on your own, remove seatbelt buckle(s) from the seat(s). This has already 

been done for you if you purchased the seat(s) from Small Car Performance. 

2. Remove stock VW seats. 
3. We strongly recommend test 

fitting the brackets in your van 
before installing onto the Pacifica 
Stow & Go Seat(s). 

4. Remove the plastic sleeve (if 
present) that rests inside the 
tracks. 

5. Slide seat bracket onto the track. 
The bracket should go on 
smoothly, but if not, it will be 
important to remove any debris 
and adequately clean. You may 
even have to pry up or hammer 
down any metal tabs that may be 
interfering with the bracket 
sliding back and forth. 

 



These instructions and the images herein are proprietary. Any unauthorized reproduction is 
prohibited. 

PACIFICA STOW & GO SEAT BRACKET INSTALLATION 
 

Small Car Performance  •  1403 34th Ave. E, Fife, WA 98424  •  253-473-2474  •  www.smallcar.com 
2 

6. Remove the brackets from the van and prepare to install brackets on the underside of the Pacifica Stow 
& Go seat(s). 

7. With the seat collapsed, 
and upside down, attach 
the angle iron to both 
sides of the seat. The 
following steps will be 
repeated for both sides of 
the seat(s). 

8. The angle iron at the front 
of the seat mounts with 
the M10 x 45 bolt, M10 x 
30 washer (you may need 
(2) washers for spacing – 
depending on your seats 
an van), and ½ x 11/16” x 
1/4" spacer. 

9. Thread the angle iron over 
the bolt and spacer and 
secure with a M10 Nyloc 
Nut. 

   

 



These instructions and the images herein are proprietary. Any unauthorized reproduction is 
prohibited. 

PACIFICA STOW & GO SEAT BRACKET INSTALLATION 
 

Small Car Performance  •  1403 34th Ave. E, Fife, WA 98424  •  253-473-2474  •  www.smallcar.com 
3 

10. Secure the rear angle iron 
attachment point with a 
M10 X 20 bolt and M10 
Wavy Washer (as seen here 
without the angle iron). 

 

11. Secure the seat bracket 
slider to the angle iron – 
making sure the slider arm 
is facing the front of the 
seat – with the four socket 
bolts and M8 Nylock Nuts. 

 
12. It is advisable to thread all 

bolts and loosely thread the 
nuts for before tightening. 

   
13. Slide brackets and seats onto the van’s tracks. The passenger seat can be done with the seat folded or 

extended. Do whichever is more convenient 

14. The driver seat can only be installed fully extended because of the steering wheel. This will take a bit of 
maneuvering. 

 

CONGRATULATIONS! YOU’RE DONE. ENJOY YOUR NEW PACIFICA STOW & GO SEATS 


